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BRE 2-1
HED =A% ABC T. AB = 15, BC = 13, cos B — %
935,

(1) sin B 25K &, 15

(2) =¥ ABC D[ S %K K.

(3) CADEZ &Rk &, 13

B8 2-2

sinez% 00° <O <180° LT3, ZDE X, cosh D%k k&,

HEOEA = ABC T, AB = 2, cosf — 2
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HEOES = ABC T, AB = 5. sinf — 4
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BRE2-4 WOHIZRK, H., B, AOERP1HTOA->TWS, ZOHH)oH
VEAIZ 1l ZEL D L., 2R L THhORBOPIZET., WO EER 4 A7
9, ROMERZRD K,

(1) BOERSHOBREED H & R
(2) BUD L 723k @O, K& H O 2 ML 72 DR
(3) HUY H U7 BRD DR, 2 FsH L 70 5 ek

ER8 2-5

(1) K- /AOF 1 a0%255L &, HORD 10 &7 2 HO 5 58
BB h,

(2) AB,B,C,C,C D 6l % iR TTEZXFHNITED BB 1,

(3) P,Q,R D 3D X F% Al 5 ENM AR T TE B XFEHNILED b 5D
272U, PQRODIBHEDLRVEDARH>TH I\WVWET B,

BE2-6 RO RAFEREMIT,
(1) 22 +42—-1=0

(2) 22 =32 —-2=0
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